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@®Excel 7 7 A VOFBT A Pt 2RV

H#E (1) Excel TVHIfH, HHERE, HBEZHHETE2
BEE (2) ZB7 A+ OIEEER, BN 2FHETES

v—F1:107—%

(=>4 I AU

DO bW RS —

A/B/IC~=%E D4, NO1/NO2/NO3~ =[#E%5. 1/0=1Ef/A 1B 2#FRKL T3,
WietokUiziEARiz 1 (BB 20 (RIEfE) TANT B & T3,

A B C D E
NO] “NO2 NO3 NO4

moOoOm>
-0 = =

i
1
i
1
1 0

9. BERBEFOAFEELLET, ARt ANS it -V v HbE, £ (V7<)
7V v 2r35L, SUM (Hil) LwiBE i Es, 22 C Enter 219 &, &Ft2HE)EH

Ranxd,
A B C D E F G H I J K L M N 0 P S
NO1 YNO2 NO3 NO4 NO5 NO6 NO7 NOS8 NO9 NOT0 NO11 NOI2 NO13 NO14 NO15 NO18 b!‘l‘

A ) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

B 1 1 1 1 1 1 1 0 1 1 1 1 1 0 0

c 1 1 1 0 0 1 1 0 1 1 0 0 0 1 0 1

D 1 1 1 1 1 1 1 0 0 0 1 1 0 0 1 0

E 1 1 1 0 1 1 1 0 0 1 1 1 0 0 1 0

fhoZHEOGFHbH Lo T, ZoBxL2BIcar—LFET, av—DFETnsn

255D TP EE—OMMLET, T avr—Lzve 2B UILGTCA—-—Y v EED
oL, BtF~w—7 (+) KEDVET, 2Dk, a€—LE0wWLIAETrIvIT5L,
ZOHFHCREMA a v -3, AFBAL T,
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B d c D E F G H [ J K L M N (0] P Q R
‘N01 NO2 NO3 NO4 NO5 NO6 NO7 NO8 NO9 NO10 NO11 NO12 NO13 NO14 NO15 NO16 &F

h |

—y

- oo b=
nmooom>
[P [y pry iy
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Y e R . RN
Y T
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20000 =
L OO = =
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- - O = -
—_— O = -
~—T oo Q= =
== e =
o PP N o
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1

CNERXTAN IV 7T 5E, FTICA->TWAHEMAERINTE T, GEAFFHEI L
F2—=2DNEBRXTNI Ny 7L TAHABLE, brAtBEoEERar—3InTn3iZLirb

1

»YET,
A BJGC|D|E|F|G|H I J K L M N 0] P Q R S
1 NO1 'NO2 NO3 NO4 NO5 NO6 NO7 NO8 NO9 NO10 NO11 NO12 NO13 NO14 NO15 NO16 &&t
2 A g 1 1 1 1 1 1 1 1 1 1 1 1 1 1 16
3 B 1 1 1 1 1 1 1 0 1 1 1 1 1 0 0 113
4 c 1 1 1 0 0 1 1 0 1 1 0 0 0 1 0 1 9
5 | D |1 1 1 1 1 1 1 0 0 0 1 1 0 0 1 0/=SUM(B5:Q5)
6 E 1 1 1 0 1 1 1 0 0 1 1 1 0 0 1 0 10

> —1F 2:M_SD
TP LR R AR ETE L £ 9
VHfEE AT e %2 ) v 2 LT, [F—1F SUM| #*% v»5 [ (AVERAGE) |
BEOE T, FHEEH L 2 WHEBEZ#EIR L. Enter 281X, “FHERIATTEINT T,

B ¢ D E F G H 1 J K L M N ©0 P Q R s T u v

1 NOI NO2 NO3 NO4 NO5 NOS NO7 NO8 NOS NOI0 NOI1 NO12 NO13 NO14 NOI5 NOi8 &t

2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 16

3 (AN S T TR TR R B | I 1 1 1 1 o 0 113

4 11 1 0 0o 1 1 0 1 1 o o0 o 1 0 1 9

5 i 1 1t 1 1 1 1 0o 0o 0 | 1 0o o i of 10

8 11 1 0 1 1 1 0 0 1 1 1 0o 0 1 o 10

7 (AN S T TS TS R E | 1 1 1 1 o 0o o 12

8 11 1 1 1 1 10 1 1 1 1 1 o o o 12

9 RS I T (R ENE TR R B | | 0 1 0o o i 13

1 1 1 1 1 1 1 0 0o 0 1 o o 1 o o 9

m o 1 1 1 0o 0 1 0 0 1 0 1 o 0o 0o o0 &

2l 11 1 0 11 1 0 1 0 1 1 o o o o 9 TE =AVERAGE(R2:R21)
3 1 1 1t 1 1 1 1 0 0 0 0 0 0 o0 1 of 8 REEE AVERAGE(RAL, [20§A2], ...)
“oo1 1 1 1 1 1 1 1 0 0 1 1 o o o o 10

5 1 1 1 1 1 1 1 0 0 0 1 1 o 0o 0o o0 9

% 1 1 1 1 1 1 1 1 0 1 1 1 o o o o

17 1 0 1 1 1 1 0 0 0 1 1 1 1 1 0 0 10

® 1 1 o o o 1 o 1 ©0 ©0 0 0 0 1 o o 5

9 1 1 1 1 o0 1 1 1 © 0 0o 0 o 1 o o 8

20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ol 15

21 1 1 1 1 1 1 1 1 1 1 0 1 1 1 o 1 14

BRI CcHBEIR c2 9, FfREEEANT2er2 2 ) v 7 LTHL, TBIK
DOffi A (function) | K% v 25 [#&t (Statistical) | [STDEV. P| % @r, #ipH % f57€
(ZTohEl) L. Enter ##3&, HBATINT T,

EMEIT 10.45, FEHERZEIR 28 LAV E L7z, AHMHT 2B —F 6 ERICETE
WTHBEDT, FOTHHEDT A Mricfio Tl Z&
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A B Cc D E F G H | J K L M

1 NO1 NO2 NO3 NO4 NOS5 NO6 NO7 NO8 NO9 NO10 NO11 NO12 1
2 A 1 S ) < 1

1 nsert Function f
3 B 1 1
Fil C 1 Search for a function: 0
5 D 1 Type a brief description of what you want to do and then Go 1
6 : E 1 click Go 1
7 F 1 Or select a category: | Statistical ~ 1
8 G 1 Select a function: 1
9 H 1 SLOPE ~ 4]

_ SMALL
10 | I 1 STAMDARDIZE 0
11 1 0 STDEV.P 1

5 STDEV.S
12 | K 1 STDEVA 1
13 L 1 STDEVPA v 0
14 ] M 1 STDEV.P(number1,numberz,...) 1

4 Calculates standard deviation based on the entire population given as
15 N 1 arguments (ignores logical values and text). 1
16 | 0 1 1
17 P 1 1
18 Q 1 Help on this fundion Cancel 0
19 R 1 0

A B © D E F G H | J K L M N (0] P Q R
1 NO1 NO2 NO3 NO4 NO5 NO6 NO7 NO8 NOS NO10 NO11 NO12 NO13 NO14 NO15 NO16 Bt
2 A 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 16
3 B Function Arguments ? X 1 o [} 1 13
4 C STDEV.P o 1 [} 1 9
5 D 0 0 1 0 10
Numbert |B18:51g +| = {1,1.0001,0,10,000010050
6 E = o o 1 0 10
7 F Humoer2 =1 = 1 0 0 0 1
8 G 1 0 0 0 12
9 H 1 o [} 1 13
10 | o 1 0 0 9
11 ] = 1.19108569 1] ] 0 0 6
12 K Calculates standard deviation based on the entire population given as arguments (ignores logical values and 1] Q 0 0 ]
text).
13 L = 0 o0 1 o 8
Numberi: numberl,number2,.. are 1to 255 numbers corresponding to a

14 M population and can be numbers or references that contain numbers. 0 0 0 0 10
15 N o o 0 0 9
16 o] 0 0 0 0 11
17 P Formula result = 1.19108569 1 1 0 0 10
18 Q Help on this function Cancel 0 1 [} 0 5
19 R T T T T U T T T U U U o 1 [} 0 8
20 s 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0 15

v—+ 3 IEEE

FEEZHT =0, 9. 1282TRLET, 7— X% 120 TAHNTEI LD

=}

AT

B

ZIT, 1 Z2aitTUIMATE 22 b2 Y 7, 2Dk, Z0AF2XERELTEH 2, 2%

¥ (AVERAGE) ZHE X, 2 IEEXK T, ME 1 054, EE%HIL0.95 TY,
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A B c D
i NOI __NO2 NO3 |
2 A i i i
3 B i i 1
4 c 1 1 1
5 D 1 1 1
6 E i i i
7 F i i 1
8 G 1 1 1
9 H 1 1 1
10 I i i I
i1 J 0 i i
12 K 1 1 1
13 L 1 1 1
14 M 1 1 1
15 N i i i
16 0 i i 1
17 P 1 0 1
18 Q 1 1 0
19 R i i I
20 S i i i
21 T 1 1 1
22 |E%= =AVERAGE(B2:B21)
fiOMEIC O WTHIEEREZHT/-0, LB LEKIcCEKEKRav—% L+, (AN
FHDOENDHETICH =Y VefHbe, BtFE~—r28H6, GV 7 v 7)
A B c D E E G H I J K L M N Q P Q R
1 MO1 MO2 MO3 MO4 MO5 MOG HO7 MO8 MO8 MNO10  NO11 MNO12Z  NO13 NO14 NO15 NO16 &5t
2 A 1 1 1 1 1 1 1 | | | 1 1 1 1 1 1 16
3 B 1 1 1 1 1 1 1 0 1 1 1 1 1 [} 0 1 13
4 C 1 1 i 0 0 1 1 0 1 1 0 0 0 I 0 I 9
5 D i i i i i 1 1 0 0 0 1 I 0 0 I 0 10
6 E i i i 0 i i i 0 0 1 1 1 0 1] 1 1] 10
7 F 1 1 1 i i 1 1 0 1 1 1 1 1 0 1] 1] 12
8 G 1 1 1 1 1 1 1 0 1 1 1 1 1 0 1] 1] 12
9 H 1 1 1 1 1 1 1 | | | | v} ] 0 1} ] 13
10 I 1 1 1 1 1 1 1 0 0 0 1 0 0 I 0 0 9
11 J 0 1 i i 0 0 1 0 0 1 0 I 0 0 0 0 [
12 K i i i 0 i 1 1 0 1 0 1 I 0 0 0 0 9
13 L i i i i i 1 1 0 0 0 0 0 0 0 1 0 8
14 M 1 1 1 1 1 1 1 1 0 0 1 1 0 0 Q Q 10
15 N 1 1 1 i i 1 1 0 0 0 1 1 0 0 Q Q 9
16 [4] 1 1 1 1 1 1 1 | 0 1 1 1 o 0 0 0 11
17 P 1 0 1 1 1 1 0 0 [i] | 1 1 1 1 1] 0 10
18 Q 1 1 0 0 0 1 0 1 0 0 0 0 0 I 1] 1] 5
19 R i i | i o i i 1 0 0 0 0 0 I 0 0 8
20 35 i i i i i 1 1 1 1 1 1 1 1 1 1 0 15
21 T 1 1 1 1 1 1 1 1 1 1 0 1 1 1 Q 1 14
22|E%®% {095 095 095 08 08 095 09 04 045 06 07 07 04 04 025 025 1045

=t 4 A A=Y

Dy — MIZBEFHE? ABCIETIZ AL, AEtoEVIE (RENIE) 1ICli~&E2Th Y T3,
il 1 L[ 2 OIEEFRIL 0.95 TRIL T2, @lIEES 33T, Eboamesin
E50, HBNNBECREE X, BAOBPECADTE TROCALREEZ 2REDZ L 2D T, P
DRELER 22 X0 b I 2 RBE R 2[R 1 013 9 5B A E e ik T,

F7-. M 8, 13, 14 OIEHFRIIET 04 TTD, LN —F#I B Em» B v 32,
RENBECANIEE 1 B3%wIEs 253l e e E2 20T, M#E 13, 8, 14 DIHZ L E X5
nxJ,
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> — b+ 5 Al

MEOHEA N 2 R 21, AatPEVAIREIELLEZEA TV 22R2MERHLDT, %
DRJEL Gt~ BERZEE T, 2200b D% R ICIIHEZHE W E T,
MEZATIL7ZwerE 27 ) vy 7 LTh b, [ A (function) | &% v 55 [HEaH
(Statistical) | [CORRELJ %i#U, 72\ 2 2 Fi0#BH % H8E L ¢, Enter 24 &, #%
BMABATIENE T,

? x

e _ = ESES(OIE TN =1
B OIRIR(S):
A
4 c 1 FAAGE DOV REEEICADUT, [3RR6a] 20U LT ALY HTERIL(G)
5 D !
6 E 1 B ANZA(C): | Hist d
1 F 1 ‘
8 G 1| EaRE(N):
9 H 1 CHISQ.TEST &
10 I I CONFIDENCE.NORM
i J 0 CONFIDENCE. T
12 K 1
13 L I COUNT
14 M 1 COUNTA
i5 N | COUNTBLANK v
15 0 1 CORREL(fic#1,825112)
17 P 1 2 OGN EEELES,
18 Q !
19 R 1
20 S 1
21 T 1
22 EEE 0.950 e 7
23| =5 ||| comtonLt oK Frobl
24
A B c D E F G H I J K L M {] o P Q R

I NO1 NO2 NO3 NO4 NO5 [y [o]i3 NO7 MO8 NOS% NOIO  NOI11 NOI12 NOI3 NOI4  NOIS NOI6  &Et
2 A 1 1 i i i i i i 1 1 1 1 1 1 1 1 16
3 B 1 1 1 1 1 1 1 0 1 1 1 1 1 0 0 1 13
4 ] 1 1 1 0 0 1 1 0 1 1 0 0 0 | 0 I 9
5 (1] 1 1 1 1 1 1 1 ] 0 0 | | 0 0 1 0 10
o E ! RaO3I2 Rl o 0 ! 00 10
7 F 1 I 0 0 0i 12
8 G 1 CORREL i 0 0 0; 12
9 H 1 5 . _ 1 0 0 1 13
T f 1 BRIl B2:B21 o= {111;1;1;15151;10015151515151. o 1 0 0 9
11 J 0 BR2 R2:R21 T = {16;13;9;10;10;12;12;13;9;6;9;... 0 0 0 0 6
12 K 1 0 0 0 0: 9
13 1 1 = 0.369167506 0 0 1 0 8
14 M 1 2 DO DIHMERE SR RLET, 0 0 0 0: 10
15 N i _ . 0 0 0 0 9
T o 1 BEFIL (I (i, i G5, B SOULEE) OULRIAEELET, b o o ol T
17 P 1 I I 0 0} 10
18 Q 1 0 | 0 oi 5
19 R 1 0 1 0 0 8
20 s 1 HEokss = 0369167506 1 1 1 0i 15
21 T 1 l l 0 114
22 [EER 0.950 oK FrAL 0400 0400 0250  0.250
23|81 h R2:R21)

LAaL, 2, $ECokdAdfiar—3cE A, @iiav—%2353L RFI (AFD
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=BG, BT ~v—2 2 AT nTd,

Z DHILHERE 2 €= TE 50T, 2 TOMEDEIN ) A2 F T,
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H
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3

777 24 b

4

J

2

f

5

- EHOSBREE

MOATSIY v NFOASIAY

H O @

4 WMOAT 3>

BRE
m/vE(N) | 1.0 Neyh
BAEX) | 5.0 Uty
Civ
() L0 Utk
wom  [02 | ew
DR

Ho CTER L 28Xz <, HERER EDL b whrEZTLZI v, AEEBY TE -

FTCTHNIET L, HTHNIE -1, 07T T THNITO0TT,

oI, ERICHBIREEGRELE S, Zlaoksic, HBEZ A LEZwerE 2 ) v 7
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